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Book key 5.2 | Possible answers:
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Open answers (The answers are in the book: la 2b

3c 4b 5c 6a 7a 8¢)

Possible answers:

* rich passengers in first-class — to travel in a ship
that was as comfortable as the best hotels

* poor passengers in third-class — a new life in the
United States

* the ship's builder — to build the best and safest ship
ever

* the ship's owners —to make the biggest ship and
earn a lot of money

v 2X 3X 4/ 5X

Corrected sentences:

2 The third-class passengers were on the bottom
decks.

3 Some of the third-class passengers (about |/7)

came from lreland.

There were only enough lifeboats for |,178 people.

James Cameron, the king

Leonardo DiCaprio, Jack Dawson

Kate Winslet, the theater

White Star Line, the Titanic

William T. Stead, an iceberg

Mrs.Adelman, a feeling of danger

biggest 2 most expensive 3 tallest

5 richest 6 Most
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best, most expensive
Open answers

la 2b 3b 4c
ab b4 d3
i8

| wasreceived 2 were made 3 were told

c | e2 f5 g7 ho9

4 wassent 5 wereseen 6 were filled

v 2X 3X 4V 5V 6V 7X

b 2a 3d 4c

Possible answers:

I The back of the ship went up out of the water.

2 It started to fall again after the ship broke in two.

3 It fell back onto the water.

4 The back of the ship went up in the air again, and
then it sank.

| was preparing 2 were climbing

3 was getting 4 was playing

5 were screaming 6 were swimming

Open answers

I f 2d 3c 4a 5e 6D
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5.3

5.4

6.1
6.2

6.4

Why? People are dying in the cold water and there
are spaces in many of the lifeboats

Why not? There isn't enough room for everybody.
If too many people try to get into one lifeboat, the
boat will sink. Then everybody will die.

21le 2d 3b 4c 5a

| silence 2 discussions 3 luck 4 search
5 bravery

Open answers:

| The Titanic was meant to be “unsinkable”.

2 Many mistakes were made; there weren't enough
lifeboats.

3 The first-class passengers were taken to good
hotels: the third-class passengers received nothing.

v 2X 3 X 4/ 5X

I without telling 2 his wife 3 another

4 onechild 5 weresilent 6 left

I how many survivors there were.

2 why Bruce Ismay was still alive.

3 who the Hoffman babies were.

4 what they should think about Loraine Kramer's
story.

5 where the Titanic was.

Open answers

Talk about it Open answers

Write about it Open answers
Project Open answers

Discussion activity key
-2 Open answers

3

Suggested answers: First class: Aristocrat, luxurious
lifestyle, exotic food. Second class: Engineer,
respectable lifestyle, good food.Third class: Carpenter,
simple life, basic food.

Suggested answers: Exotic food they have never eaten
before, or their favorite food.

5-7 Open answers.

8

Suggested answers:

Student A:You have saved a lot of people’s lives.
Student B:You are young and have a lot to offer the
world of music.

Student C:Your children will have no one to look after
them.

Student D:You have many good political ideas and
could help to solve a lot of problems in the world.
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9 Suggested answers:
a Commercial pressure to reach America very quickly.
b He paid a lifeboat officer.
¢ They thought it was a party on the Titanic.
d It was an illegal ship.
e It was not a legal requirement and also they
believed the ship couldn't sink.
10—12 Open answers

Activity worksheets key
I a unsinkable b different c library
d building e magazines f accident
2 a KateWinslet
b Jack Dawson
¢ James Cameron
d EJ.Smith
e Mrs.Blanche Marshall
f Leonardo DiCaprio
3 atook b reach c made d hide e puton
f keep
4 ahead-behind
float—sink
higher—lower
large—small
loud—quiet
5 a Because they didn't understand English.
b He waved a gun at them.
¢ Three quarters of an hour.
d That it wasn't going to sink.
e Nine.
f They played their last song.
a Wallace Hartley
b Harold Bride
¢ Benjamin Guggenheim
d Officer Lightoller
e A third class passenger
f A person in a lifeboat
a freezing b relatives ¢ ordered d president
e famous f crew
a Because he knew he was going to die.
b Because they covered a 6.5 kilometer area.
¢ To attract attention.
d Because too many people would try and get into
the boat.
e Because the doors were locked.
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wood > metal

happy > angry

all > some

full > empty

months > weeks

that the ship broke in two.
to sell trips to the Titanic.
any money or clothes.

a
b

C

d

e

a

b

c

d interested in it.
e tothe surface.

f Jack Phillips and Harold Bride gave on the radio.

a When did the story of the movie begin?

b What was Jack Dawson's job?

¢ What was the Heart of the Ocean?

d What was the mistake in the movie?

e When are important parts of movies often filmed?
a exactly b gift ¢ nothing d escape e words
f together

Progress test key

laX bV cX dv eX fvV/ gX hV
iv o jX

2a2 b9 ¢3 d4 eIl0O f7 g6 h38
i5 jl

3 a message b locked ¢ waved d murdered
e knives f model g luck h lookouts i kept
j dinner

4 a south b clean c left d four e twelve
f first g ayoung h two j third

5 a April 151912
b 2207

1907

Five

Officer Lightoller

328

Michel Navratil

4000 meters

i The Heart of the Ocean

i 1,600,000,000 dollars
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